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Exercise

1. Null set Is

A. a)

B. b){0}

C. c)

{x : x2 = 1 or x = 2}

{x : x2 + 1 = 0}

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ICIlOMdKXc2V


D. d)

Answer:

Watch Video Solution

{x : x > 0 or x < 0}

2. The number of real solution of  are

A. a)4

B. b)3

C. c)2

D. d)1

Answer:

x2 − 3|x| + 2 = 0

https://dl.doubtnut.com/l/_ICIlOMdKXc2V
https://dl.doubtnut.com/l/_Yqeu8rrIx2aY


Watch Video Solution

3. Z is a complex number and Z. , it is true only

when

A. a)Re(z)=0

B. b)Im(z)=0

C. c)Re(z)+Im(z)=0

D. d) z is not equal to 0

Answer:

Watch Video Solution

¯̄̄Z = 0

https://dl.doubtnut.com/l/_Yqeu8rrIx2aY
https://dl.doubtnut.com/l/_jJyPIhBuLr6L


4. If 4th,7th nd 10th term of G.P are x, y and z, then

A. a)y, x, z are in G.P.

B. b)z, y, x are in GP

C. c)x, y, z are in GP

D. d)x, y, z are in AP.

Answer:

Watch Video Solution

5. The co-ordinate of the foot of the perpendicular from

the point (4, 3, 5) to z axis is

https://dl.doubtnut.com/l/_P0ITUCleSEQ4
https://dl.doubtnut.com/l/_PUQKRzBXyRWS


A. a)(0,0, 5)

B. b)) (0, 3, 0)

C. c)(0, 0, 4)

D. d)(4, 0, 0)

Answer:

Watch Video Solution

6. The equation of the circle passes through the point

(0, 4), (0, 0) and (3, 0) is

A. a)

B. b)

x2 + y2 − 4x − 3y = 0

x2 + y2 − 3x − 4y = 0

https://dl.doubtnut.com/l/_PUQKRzBXyRWS
https://dl.doubtnut.com/l/_heGxI9lHUqbS


C. c)

D. d)

Answer:

Watch Video Solution

x2 + y2 − 4x + 3y = 0

x2 + y2 + 4x − 3y = 0

7. The value of is

A. a)-6

B. b)6

C. c)8

D. d)2

lim
x → 0

1 − cos 4x

x2

https://dl.doubtnut.com/l/_heGxI9lHUqbS
https://dl.doubtnut.com/l/_qSzO3cmM1zHN


Answer:

Watch Video Solution

8. If f(2) = 2, and f'(2) = 1, then the value of

A. a)0

B. b)1

C. c)-1

D. d)2

Answer:

Watch Video Solution

lim
x → 2

xf(2) − 2f(x)

x − 2

https://dl.doubtnut.com/l/_qSzO3cmM1zHN
https://dl.doubtnut.com/l/_o6LvecjzjMRi


9. Three unbiased dice are thrown at a time. The

probability of getting three distinct numbers in three

dice is

A. a)1/9

B. b)1/36

C. c)5/9

D. d)

Answer:

Watch Video Solution

3

23

https://dl.doubtnut.com/l/_o6LvecjzjMRi
https://dl.doubtnut.com/l/_DIMBT3NsPE5I
https://dl.doubtnut.com/l/_1YRFmVrbFMo3


10. If the variance of a distribution is 4 coefficient of

variation is 5%,then mean of the distribution is ___

A. a)20

B. b)25

C. c)40

D. d)80

Answer:

Watch Video Solution

11. If  and . Find the maximum and

minimum numbers of.elements of 

n(X) = 4 n(Y ) = 8

X ∪ Y

https://dl.doubtnut.com/l/_1YRFmVrbFMo3
https://dl.doubtnut.com/l/_kFRFCtpEZv6g


Watch Video Solution

12. If A = , find the range

of A.

Watch Video Solution

{(a, b) : a + 3b = 12, a, b ∈ N}

13. Show that 

Watch Video Solution

cos6 θ + sin6 θ = (5 + 3 cos 4θ)
1

8

14. If n be an integer, then find the value of

.

W t h Vid S l ti

tan{ + ( − 1)n. }
nπ

2

π

4

https://dl.doubtnut.com/l/_kFRFCtpEZv6g
https://dl.doubtnut.com/l/_BhEeOPlIo8CA
https://dl.doubtnut.com/l/_csrelpAoSOMc
https://dl.doubtnut.com/l/_AQUItbzE5QCf


Watch Video Solution

15. If (1 + i) (2 +i) (3 + i)…..(n+i)=a+ib ,show that 2.5.10….

Watch Video Solution

(n2 + 1) = a2 + b2

16. If n is a even number, find the sum of the series upto

n terms

Watch Video Solution

12 − 22 + 32 − 42 + 52 − ......

17. How many 5 digits telephone number can be formed

from the digits from 0 to 9 when every number start

https://dl.doubtnut.com/l/_AQUItbzE5QCf
https://dl.doubtnut.com/l/_l2h48cqeFXS9
https://dl.doubtnut.com/l/_CMJ7K4cYq3B7
https://dl.doubtnut.com/l/_6N9G7Srd0ZC4


with 23 (no digit being repeated in any number)

Watch Video Solution

18. Find the value of …..

Watch Video Solution

. .
32

3

32

9

32

27

19. If the gradiant of the line joining the points

 and  is . Find the value of .

Watch Video Solution

(2a, − 2) (1, − a) −2 a

https://dl.doubtnut.com/l/_6N9G7Srd0ZC4
https://dl.doubtnut.com/l/_eoI909kHjzTf
https://dl.doubtnut.com/l/_OaIhJ7wadRPR


20. Find the ratio in which the plane 2x+3y+5z=1 divides

the line segment joining the points (1,0,-3)and (1,-5,7).

Watch Video Solution

21. Evaluate:

Watch Video Solution

lim
x → 0

sin x

x

22. Find the condition for the existance of 

Watch Video Solution

lim
x → 0

f(x)

https://dl.doubtnut.com/l/_ZZ83rCCa19e1
https://dl.doubtnut.com/l/_QwwTKbXnDDvG
https://dl.doubtnut.com/l/_REKcUvbFIZyO


23. Find the variance of 1, 2, 3, 4.

Watch Video Solution

24. There are four letters and four envelops with proper

address. Find the probability that the letters are not in

proper envelops.

Watch Video Solution

25. For any three sets . prove that 

Watch Video Solution

A, B, C

A × (B ∪ C) = (A × B) ∪ (A × C)

https://dl.doubtnut.com/l/_hDwXFaXEGjHi
https://dl.doubtnut.com/l/_G42YMYL67dYz
https://dl.doubtnut.com/l/_nnNjle4ftvjQ


26. If  Show that 

Watch Video Solution

cos α = k cos β

tan( ) = cot( )
α + β

2
1 − k

1 + k

α − β

2

27. Solve : 

Watch Video Solution

sec θ − 1 = (√2 − 1)tan θ

28. Prove by mathematical induction.

Watch Video Solution

+ + + .... + =
1

1.3

1

3.5

1

5.7

1

(2n − 1)(2n + 1)

n

2n + 1

https://dl.doubtnut.com/l/_nnNjle4ftvjQ
https://dl.doubtnut.com/l/_ibAUCnWojNk8
https://dl.doubtnut.com/l/_lSlpF0jlcse4
https://dl.doubtnut.com/l/_czbbSALd8qUw


29. How many different arragements of the letters of

the word ALGEBRA can be made so that the two ‘A’ is do

not come together.

Watch Video Solution

30. If the sum of the  term of an  is  +  . which,

term will be 201?

Watch Video Solution

n AP n2 2n

31. If z=x+iy and is purely imaginary,then show

that the point z always lies on a circle.

z − i

z + 1

https://dl.doubtnut.com/l/_czbbSALd8qUw
https://dl.doubtnut.com/l/_IAIb5dxQmtHW
https://dl.doubtnut.com/l/_wcJtlbheIo9L
https://dl.doubtnut.com/l/_jOi0QTKZwKF2


Watch Video Solution

32. The equation of the two adjacent sides of a

parallelogram are 4x+ 5y
 = 0 and 7x + 2y =.0and

equation of one of the diagonal is 1 lx + 7y
= 9, find the

equation of other diagonal.

Watch Video Solution

33. In a rectangle, the co-ordinates of the end point of a

diagonal are (2, 3) and (8, II) and other diagonal is

parallel to y axis. Find the co-ordinate of the end points

of other diagonal.

W t h Vid S l ti

https://dl.doubtnut.com/l/_jOi0QTKZwKF2
https://dl.doubtnut.com/l/_Dqj63wUMu52u
https://dl.doubtnut.com/l/_bsuLubbO6yla


Watch Video Solution

34. If the straight line dx + cy = cd is perpendicular the

line joining the points (4, 5) and (3.-8) and also it passes

through (6, I). Find the value of c and d

Watch Video Solution

35. Find the equation of a circle which passes through

 and  and the centre lies on the

straight line 

Watch Video Solution

(0, − 3) (3, − 4)

2x − 5y + 12 = 0.

https://dl.doubtnut.com/l/_bsuLubbO6yla
https://dl.doubtnut.com/l/_nGZhs6WSfLZC
https://dl.doubtnut.com/l/_yD2TJUz7wYv1


36. Evaluate:

Watch Video Solution

lim
x → 0

√1 + x2 − √1 + x

√1 + x3 − √1 + x

37. If f(x)=x|x|,prove that f'(x)=2|x|.

Watch Video Solution

38. ‘If x is a whole number and  is even, then x is also

an even number’. Find the truth value of this statement

by contrapositive method.

Watch Video Solution

x2

https://dl.doubtnut.com/l/_jPyMlKfz4BB6
https://dl.doubtnut.com/l/_0ygv7XlLb3Cn
https://dl.doubtnut.com/l/_X0GO00gu7zYr


39. ‘If a and b are two odd integer, then (a + b) is an

even intege.”—examine whether this compound

statement is true of false

Watch Video Solution

40. One cord is drawn at random a pack of 52

c’ards..Find the probability the card will be either a king

or a Hearts or red?

Watch Video Solution

https://dl.doubtnut.com/l/_MLvakCuZ1J9R
https://dl.doubtnut.com/l/_4zl0hCSxoxIo


41. Find the mean and variance for the following

frequency distributions in 

Watch Video Solution

42. Solve : 

Watch Video Solution

2 cos2 2θ cos 5θ + 2 = sin2 θ, θ ∈ R.

43. If ^5C_r)+1/( find the value of r.

Watch Video Solution

1
^ 6Cr) +

1

~4Cr

https://dl.doubtnut.com/l/_ozIYh2cPvFA2
https://dl.doubtnut.com/l/_ssHLtzJgNMIZ
https://dl.doubtnut.com/l/_8rfzgqJcgrwT


44. Show that there are 72 ways of selecting 5 letters

from the word INDEPENDENT.

Watch Video Solution

45. The co-ordinate of vertex and focus of a parabola


 = 0 are  and 

. Find the the value of .

Watch Video Solution

x2 + by2 + 2hxy + 2gx + 2fy + c (2, 4)

(6, 2) b, h, g. f, c

46. Prove that the 4 foci of the two ellipses

 and 25x2 + 169y2 = 4225 400x2 + 256y2 = 102400

https://dl.doubtnut.com/l/_P8zc1sY7uoeW
https://dl.doubtnut.com/l/_rb1OVXyQw7M6
https://dl.doubtnut.com/l/_VcO1Q5RTPWvP


are concyclics.

Watch Video Solution

47. Show that the difference of the focal distances of

any point on the hyperbola  is equal to

its transverse axis.

Watch Video Solution

9x2 − 4y2 = 36

https://dl.doubtnut.com/l/_VcO1Q5RTPWvP
https://dl.doubtnut.com/l/_3uvkwaYXXUhT

